
DU-DR-0026-80 Rev A 4/14/03 GCX Corp. Page 1 of 3 

  GCX Mounting Assembly Installation Guide 
 

Dräger Fabius GS Rear Compartment Mounting Bracket 
 

 
The purpose of this guide is to describe attachment of the Mounting Bracket to the bottom rear chassis of the Fabius GS. 
 
Parts Reference 
The following parts and hardware are included with this installation kit (see photo for parts; hardware not shown): 
 
 

 
 
 
 
 
 
 
 
 

 
 
Tools Required:  7/16'' wrench or nut driver, Phillips screwdriver. 
 
 
Installation Note:  Check the bottom rear chassis of the machine for mounting holes for the Mounting Bracket (see Pic 
1).  If mounting holes are not present, the Mounting Bracket cannot be attached at this time.  Contact Dräger Customer 
Support for assistance. 
 
If your machine has the required mounting holes, proceed to Step 1 on the next page. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Item # Description Qty 

1 Mounting Bracket 1 

2 1/4-20 Kep Nut 2 

3 1/4'' Flat Washer 2 

4 Velcro Strap, 48'' 1 

5 Fabius GS Channel, 12'' 1 

6 #10-32 x 3/8'' Flat Head Machine Screw (FHMS) 4 

Mounting Holes (2) 

Pic 1 

Mounting Bracket 

12'' Channel 

Velcro Strap 



DU-DR-0026-80 Rev A 4/14/03 GCX Corp. Page 2 of 3 

Attaching the Mounting Bracket 
 
1. Insert the Velcro Strap through the appropriate slots (upper or lower) in the Mounting Bracket (Pic 2).  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. Insert the two (2) threaded studs (bottom of the Mounting Bracket) through the two (2) mounting holes in the chassis 

(see Pic 3).  Using a 7/16'' wrench, secure the Bracket to the chassis with the two (2) 1/4-20 kep nuts and 1/4'' flat 
washers provided.  Bracket should be attached as shown in Pic 4. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Threaded Studs (2) 

Pic 3 

Mounting Holes (2) 

Pic 2 

Lower Slots 

Pic 4 

Mounting Bracket Attached



DU-DR-0026-80 Rev A 4/14/03 GCX Corp. Page 3 of 3 

Attaching the 12'' Channel to the Mounting Bracket 
 
A 12'' Channel is provided for either vertical or horizontal attachment to the Mounting Bracket. 
 
 
Horizontal Attachment 
 
1. Using four (4) #10-32 x 3/8'' FHMS, attach the Channel to the four (4) 

threaded mounting holes at the top of the Mounting Bracket (see Pic 5). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Vertical Attachment 
 
1. Remove the Velcro Strap from the Mounting Bracket. 
 
2. Using four (4) #10-32 x 3/8'' FHMS, attach the Channel to the four (4) threaded mounting holes above and below the 

lower slots in the Mounting Bracket (see Pic 6). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

#10-32 x 3/8'' FHMS (4) 

12'' Channel 

Pic 6 

Mounting Bracket 

12'' Channel 

#10-32 x 3/8'' FHMS (4) 

Mounting Bracket 

Pic 5 


